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PAXPB=PEXPF , 3xPB = 4 x (4 +5)
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. CD=8-45=235
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Lx, 2y O 7HS HEA AL AL

@Ax = 84°, Ly = 34° @ /x=85° 1y =34°
® 1x=85°% sy =35° @ /x = 86°, Ly = 35°

® x = 86°, /1y = 36°

(ECB = /BAC = 62°
LCAD = /x = 84°
oLy = 180° — 84° — 62° = 34°




th2 2o A 214 AT 09 AA
g o, x9] 37]=7

® 25° @ 40° ® 55°
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2/x + £x = 90°
3/x = 90°

L /x=30°

L 4/x =120°
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PA =16 - 2x
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1) 8(84-CD) = 12(12 + 4)

CD = 16, CF=FD = 8
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AE-AB=AD-ACo|EZ&
AD x (AD +10) = 8 x 12

AD’ + 10AD - 96 = 0

(AD +16)(AD - 6) = 0
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AB° = AP xAQ
b? — RP(AD + a)

. x=AP

. Ez—i—aﬁ—bQ:O = X4ax-b2=0




